
Answer on Question 72086, Physics, Other 

Question: 

What is the speed of sound through an aluminium rod if a sound vibration of 

frequency 13 𝑘𝐻𝑧 has a wavelength of 40 𝑐𝑚? 

Solution: 

We can find the speed of sound through an aluminium rod from the wave-speed 

formula: 

𝑣 = 𝑓𝜆, 

here, 𝑣 is the speed of sound through an aluminium rod, 𝑓 is the frequency of the 

sound vibration, 𝜆 is the wavelength of the sound vibration. 

Then, we get: 

𝑣 = 𝑓𝜆 = 13 ∙ 103 𝐻𝑧 ∙ 0.4 𝑚 = 5200 
𝑚

𝑠
. 

Answer: 

𝑣 = 5200 
𝑚

𝑠
. 
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